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All questions are compulsory.
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The question paper consists of 31 questions divided into four sections A, B, C and D. Section-
A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions of 2 marks each;

Section-C comprises of 10 questions of 3 marks each and Section-D comprises of 11 questions
of 4 marks each.

59 T A A faened T R

There is no overall choice in this question paper
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Use of calculator is not permitted.
@ueg-31 / SECTION - A
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Question numbers 1 to 4 carry 1 mark each.
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Express 0.3 in the form £, where p and q are integers and g = 0.
4
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If 4x° + 75 - 3x — 6 is divided by x+1, then find the quotient.
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In given figure AB||CD, find the value of x.
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A policeman and a thief are equidistant from the jewel box. Upon considering jewel box as

origin, the position of policeman is (0, 5). If the ordinate of the position of thief is zero, then
write the coordinates of the position of thief.

WUS-& / SECTION - B

T¥ WEAT 5 W 10 T WA U9 2 3ok T ¥
Question numbers 5 to 10 carry 2 marks each.
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Is zero (0) a rational number ? Justify your answer.
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Factorise : x2+32 x+4:
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Prove that every line segment has one and only one midpoint.
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In the giv%n figure, we have AB =BC, BX=BY. Show that AX=CY. State the axiom used.
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In which quadrant will the point lie, if

@ the ordinate is 2 and the abscissa is —3 ?
(i)  the abscissa is —4 and the ordinate is —2?
(ili)  the ordinate is 3 and the abscissa is 4 ?
(iv)  the ordinate is 3 and the abscissa is —2?
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An isosceles triangle has perimeter 30 cm and each of equal sides is 12 cm. Find the area of

. the triangle. -
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Question numbers 11 to 20 carry 3 marks each.
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Represent 7 on the number line.
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Write ¥, /3, 46 in ascending order.
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Factorise : x3—x

i a+b=10 3R a2+ b2 =58 &, A a3+ b3 F A T HITTT| 3
If a+b=10 and a2 + b2 =58, find the value of a3 + b3.
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ABCD is a square. X and Y are points on the sides AD and BC such that AY =BX. Prove that
LXAY=ZYBX
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If a transversal intersects two parallel lines, then prove that bisectors of alternate interior !
angles are parallel.
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In the given figure AABC is isosceles triangle in which AB=AC. Side BA is produced to D
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such that 'AB=AC. Show that ZBCD is a right angle.

A ) B

In the given figure PO L AB. Ifx:y:2z=1:3:5 then find the degree measure of x, yand z.
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Find the percentage increase in the area of a triangle if its each side is doubled.
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Find the area of an isosceles triangle whose one side is 10 cm greater than its equal side and its

- perimeter is 100 cm. (Take /5 = 2.23)
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Question numbers 21 to 31 carry 4 marks each.
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Varun was facing some difficulty in simplyfying JV_i " His classmate Priya gave him a °

thanked Priya for this goodwill. How Varun simplified \/7{ -

indicate ?
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" Represent V8 on the number line. (Write the steps of construction)

UGS TIRTT 13 + 13x2 + 32x + 20
Factorise : 3+ 13x% 4+ 32x+20
ToEE R : 22— 2 x+ %
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Factorise : 2x2 — = x4+ —.
6 12
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Factorise : ¥’ —6x* +11x—6

af (x—z)ai\'{[x— :—] B pxd + 5x+ 1 ¥ TUFEE ¥, @ iRy BR p=r ¥

_ If both (x—2) and [x = -;—} are factors of px2 +5x+r, show that p=r.
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 clue to rationalise the denominator for simplification, Varun simplified the expression and

? What value does it

Toize fF 4
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In figure, AB and CD are respectively the smallest and largest side of a quadrilateral ABCD.
Show that ZA >/Cand £B >£D.

D

A

C

| AABC #1 YT BC, CA 3R AB F1 FTI6R 3@ T LACD, ZBAE 3R ZCBF I8l HI1 91 Y 4

¥ fag #ifT fF LACD + /BAE + ZCBF =360° %1

The sides BC, CA and AB of AABC are produced in order forming exterior angles ZACD,
/BAE and ZCBF. Show that ZACD + ZBAE + ZCBF =360°.
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() AABD=ABAC

(i) BD=AC

(i) ZABD=/BAC

D

" ABCD is a quadrilateral in which AD=BC and ZDAB=ZCBA as shown in figure. Prove that |
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()  AABD=ABAC
(i) BD=AC
(i) £ABD=/BAC
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If two parallel lines are intersected by a transversal, prove that the bisectors of two pairs of
interior angles encloses a rectangle.
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() AABM =APQN (i) AABC=z=APQR )
Two sides AB, BC and median AM of one triangle ABC are respectively equal to sides PQ, QR
and median PN of APQR. '

Show that (i) AABM =APQN (ii) AABC=APQR
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